% exp6_1.m - “E ) BUER > 4

% [1] -------- E &M Simpson R/ —--mmeem
% [ T] quad A 2146 JH &R Simpson F1437% (recursive adaptive Simpson quadrature).
% XA A2

% FITiE B 3E Sk 2 R 300 0l o 0 AR A A 10, AE AR AL TR L ) b T,

% K153 AR, AE AR A PR R 7, K143 IR BOH, S AE CRAUE RS FE S 00 R
% EESE 194 i S (R B A )

% [ FH J772)

% | = quad(FUN,a,b,tol)

% FUN JEMEREREL, [a,bl 2R [X (1], tol 24X iR 22 A 2 (54 (H 1e-6)

FUN = inline('13*(x-x.A2).*exp(-3*x./2)'"); % V¥ =:quad ERVAIH Sz
a=0; b=4;, tol=1e-6;

I1 =quad(FUN,a,b,tol);

cle,fprintf("\n E R ZEF7 %15.10f,11)

% [2] ________ ﬁ/_kﬁl:l/\ ________

% [TE11] X AR MG BRI ELH FH T,

% A FARE SR A 1B (23 B 22 10 =X A ABUA R A AR e 2

xx = 0:0.1:4; yy = FUN(xx); % X b TH] BRI AR BRI

pp = spline(xx,yy); % SRAEZR, SR mT A /R H B A%
int_pp = fnint(pp); % SREERA D A Y TR A E R

12 = ppval(int_pp,[0,4]) * [-1;1]; % #Ha#F 25 ek K ()50 R 50 v S5 i 2 X D) (R AR 204 A 4 T e AR 4
fprintf('\n FE45F14>  %15.10f,12)
%

I3 = 4108/27*exp(-6)-52/27; % FERIMH
forintf(\n #§ # {5  %15.10f,I3)
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% [s£3—1 |

% (1)K 52 S0 m O EUMEA 70 62 quadl (S — =2 1)
% F

% 1FE R BUAET 3t 4 fnder (2L P150)

%k (52501
% f%ME P138 K 6-2 ZmE Ak Simpson SKFRFERF S = mysimp(f,a,b,n)
% FAIAS HARFHELE 17,83 1/ 1 ) ZRAR 15 75— Be 8 5 iR &



